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Figure S1. 1H NMR (400 MHz, C6D6) of adduct (IPr*)GaMe3 (1) 
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Figure S2. 13C{1H} NMR (125.8 MHz, C6D6) of adduct (IPr*)GaMe3 (1)

[image: C:\Users\Béatrice\Desktop\Publi Ga In\Spectres SI\IPr'InMe3-1H.png]
Figure S3. 1H NMR (500 MHz, C6D6) of adduct (IPr*)InMe3 (2)
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Figure S4. 13C{1H} NMR (500 MHz, C6D6) of adduct (IPr*)InMe3 (2)
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Figure S5. 1H NMR (500 MHz, C6D6) of adduct (StBu)GaMe3 (3)
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Figure S6. 1H NMR (500 MHz, C6D6) of adduct (StBu)InMe3 (4)
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Figure S7. 13C{1H} NMR (500 MHz, C6D6) of adduct (StBu)InMe3 (4)
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Figure S8. Reaction of a 0.4/1 GaMe3 mixture with H2 (1 bar H2, RT, 5 min) showing the quantitative formation of the aminal product. 
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Figure S9. Zoom-in of the MALDI-TOF mass spectrum of the PLA produced via ROP of rac-LA initiated by species 3 (toluene, RT).
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[bookmark: _GoBack]Figure S10. 1H NMR spectrum (CDCl3) of isolated cyclic PLA produced by ROP of rac-lactide with initiator 3 (Conditions: 100 equiv of rac-lactide, 18h, toluene, quantitative conversion). 
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